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HT—I / PART—I
a1 Taema e e RAfy
CHILD DEVELOPMENT AND TEACHING METHOD
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1. Which of the following pairs is not true?

(1) Stimulus-response
learning—Thorndike

(2) Operant conditioning theory of
learning—B. F. Skinner {

theory of

A3) Classical theory of learning—Pavlov
(4) Holistic theory of learning—Hull

2. Whose name is associated with Father
of the Eugenics™?

@) Crow and Crow
(2) Galton

3. Who described different
personality based on glands?

(1) Kretschmer
(2) Jung

(3) Cannon

@. Spranger

4. “Creativity is a mental process to
express the original outcomes.” This
statement is given by

(1) Cole and Bruce :
(2) Drevahal - ,
(3) Dehan

types of

(4) Crow and Crow

\;. The tendency of TFeeling of Revolt’ is
concerned with which of the following

q‘ ages?
(1) Childhood
(2) Infancy
(3) Early adolescence

(4) Middle adolescence
-
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6. The period of learning, where no

improvement in performance is made,
is called

(1) learning curve

(2) plateau of learning
(3) memory

(4) attention

7, The formula for calculating IQ is
(1) Mental age x Chronological age
2) Chronological age

Mental age

M
ental age 100

(3)

-, Chronological age .

(4) Chronological age + Mental age ,.
8. Who has pfopounded the law of trial and

error of learning?
(1) Kohler
(2) Pavlov
(3) Thorndike
(4) Gestalt

90 In a normal zygote, the number of
chromosomes in pair is

(1) 22
223
(3) 24

(4) None of the above

10. Operant conditioning
propounded by

(1) Hull

thebfy is

(2) Thorndike
(3) Hegarty

_ (4) Skinner

11. Kohler is associated with which of the

following? 5
(1) Theory of motivation
(2) Theory of development
(3) Theory of peféonaiity
(4) Theory of learning

[ P.T.O.
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Paper-1/B

12. Fluid mosaic model of intelligence was
proposed by

(1)
(2)
(3)
(4)

Cattell
Thorndike
Vernon

Skinner

13. Brainstorming model of teaching is used
to improve which of the following?

(1)
(2)
(3)
(4)

Understanding
Application

T

Creativity
Problem solving

14. Goleman is associated with which of the
following?

(1) Social intelligence

(2)
(3) Spiritual intelligence

Emotional intelligence

(4) General intelligence
15. Find the odd one ‘8ut. ey
(1) .Theory of learning to learn )
(2) Theory of identical elements
(3) Drive reduction theory
(4) Theory of generalization
(}K. The lowest level of cognitive achievement
is
(1) knowledge e ke 3l
L2 understanding
(3) application
(4) analysis

17./A boy who can ride a cycle is goir{g to
drive a motorbike. This is an example of

A1) horizontal transfer of learning
(2) vertical transfer of learning
(3) bilateral transfer of learning

(4) No transfer of learning
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Paper-I/B

18.

19.

20

21.

22. The

23.

Which of the following is not the cause
of plateau of learning?

(1) Limit of motivation

(2) Non-cooperation of school

(3) Physiological limit

(4) Limit of knowledge

“Learning is the modification of

behaviour through experience and
training.” This statement was given- by

(1) Gates and others

(2) Morgan and Gilliland
(3) Skinner

(4) Cronbach

‘Stanford-Binet Test’ measures
(1) personality

(2) reading efficiency

(3) intelligence

(4) None of the above

Who has classified introvert personality
and extrovert personality? .

(1) Freud
(2) Jung
(3) Munn
(4) Allport

factors affecting the
development of children are

social
(1) economic elements

(2) social-environmental elements

(3) physical elements

(4) hereditary elements

Which of the following is a pnmary law
of physical development?

(1) Law of difference from mental
development

(2) Law of irregular development
(3) Law of rapid growth

(4) Law of relation from imagination
and emotional development

{ P.T.0.
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24.

25.

26.

27.

28.

29.

30.

(1) Thorndike

Which of the following is not the theory
of development?

(1) Theory of conditioned reflex
(2) Theory of continuous growth
(3) Theory of interrelation

(4) Theory of uniform pattern

“Development results in new
characteristics and new abilities.” This
statement is given by

(1) Gesell

(2) Hurlock

(3) Meredith Tt

(4) Douglas and Holland

Lnstincts are classified in fourteen types
¥

(1) Drever

(2) McDougall

(3) Thorndike

(4) Woodworth

“Attention is the concentration of

consciousness upon one object rather

than upon another.” This statement is

given by _

(1) Dumville

(2) Ross

(3): Munn

(4) McDougall - o

Which is not mclﬁded in pnma;y i af

learning? 1.

(1) Law of readiness

(2) Law of exercise -

(3) Law of multiple response

(4) Law of effect

Which test is propounded by Dr. S.

Jalota in Hindi for the children of 12 to
16 years?.

(1) Non-verbal intelligence test

(2) General mental ability test

(3) Army alpha test

(4) Picture draw:ng test

Who propounded  the
theory of intelligence?

-,

two-factor

(2). Spearman L

e SRR b s 2 a0

N T e L

(3) Vernon - o i

(4) Stern

B s
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ar—III /

PART—III

9IT-11 (3s(t) / Language-II (ENGLISH)

Candidates should answer the questions from the following part only if they h‘““e _
opted for ENGLISH as LANGUAGE-II ;

61. Complete the following sentence with
correct conjunction :

he had not paid his bill, his

electricity was cut off.

(1) But
(2) Either
-(3) Unless

Er
Personification -%WHQ'( 1 fTey
(3) Apostrophe 1{3 ' TV g
(4) Simile U A
63. The study of population is known as
(1) Ecology
(2) Astronbmy
) Demography

7U{Aﬁ}) Genealogy

64. Give the meaning of the following
proverb :

A bird m hand 1s worth two in

a bush -7

To catch two b1rds with your hands

To be dissatisfied with ‘what you

have

It is better to be satisfied with what

you have than to try to get what is

not yours

To trap birds in bushes

(1)
(2)

@)

(4)
. Which of the following sounds is not
associated with the sound of a bell?

* (1) Chime
"(2) Jingle
(3) Ring

66. Fill in the
preposition :
Are you sorry _____ what you have
done?
(1) with
v’(2) for
(3) by
< (4 over
out the correct synonym of the
110 wing word : N g
Attenuate :
@ Repent ne B
2) Force
3) Divide a
4) Make thin ;

i¢k out the compound sentence:
) To add to their troubles the,sef'vant'
ran away.
(2) Having no money with me, I could
not give the beggar anything.

+ (3) I loved him because he was my
z friend.

(4) The servant ran away and added
‘to their troubles.

pelest the most appropriate preposition
plete the following sentence :
Why are you always so susplcmua

’

the correct alternative to

70. Choose
v complete the following sentence :

The Headmaster
you.

wants

is wanting

was wanting

to speak to

:a(l)
(2)
3)

2 (4) Dang ~

Paper-1 /B

(4) None of the above

10
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Directions : Read the given passage carefully
and answer the questions (Question Nos.
71 to 75) that follow by selecting the most
appropriate option.

Antarctica is an icy continent in the South
Pole. It is covered by permanently frozen
ground, is surrounded by water and is gbout
1'5 times longer than the United States.
The world’s largest desert is in Antarctica.
98% of the land is covered with a continental
ice sheet; the remaining 2% of land is
barren rock. Antarctica has about 87% of the
world’s ice. The South Pole ‘is 'the
coldest, windiest and driest place on Earth.
The coldest temperature ever recorded on
Earth was at the South Pole; it reached as
low as —-128:6 °F or —88:0 °C. On an average
most of the Antarctica gets less than 2 inches
of snow each year. Although scientific
' expeditions visit Antarctica, there are no
permanent human residents. This is because
of the extreme weather, which includes
freezing temperature, strong winds and
blizzards. There are about 4000 seasonal
visitors to Antarctica. Antarctica hasn’t always
been located at the South Pole. It has drifted,

like the other continents and has ranged

from the Equator during the Cambrian period,
about 500 million years ago to the South Pole.
During the time of the dinosaurs, Antarctica
was more temperate and housed dinosaurs
and many other life-forms. Now there is very
little indigenous life.

=y

71. The word ‘icy’ in the passage is a/an
(1) noun
A2) adjective
(3) adverb

(4) homonym of 4ce’

Paper-1/B

{8 |

72. The word /desert’ in the passage is a
(1) _~fhoun
(2) pronoun
(3) verb

(4) verbal

73. The word ‘windiest’ in the passage is a
(1) second form of verb
: £2) superlative form of adjective
(3) superlative form of adverb

(4) positive form of noun

74. Has Antarctica always been fixed in
the South Pole?

(1) Yes
52) No
(3) May be

(4) Not given in the passage

75. Who are the earliest known inhabitants
of Antarctica?

(1) American scientists
(2) Indian scientists
A3) Dinosa;.lrs
4) It haslalway's been a desert -

[ P.T.O.
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Directions : Read the given passage carefully
and answer the questions (Question Nos.
76 to 80) that follow by selecting the most
appropriate option.

The first thing which a scholar should bear
in mind is that a book ought not to be read
for mere amusement. Half-educated persons
read for amusement, and are not to be blamed
for it; they are incapable of appreciating the
deeper qualities that belong to a really great
literature. But a young man who has passed
through a course of University training should
discipline himself at an early day never to
read for mere amusement. And once the habit
of discipline has been formed, he will find
it impossible to read for mere amusement.
He will then impatiently throw down any book
from which he cannot obtain intellectual food,
any book which does not make an appeal
to the higher emotions and to his intellect.
But on the other, the habit of reading
for amusement becomes with thousands of
people exactly the same kind of habit as
wine-drinking or opium-smoking; it is like
a narcotic, something that helps to pass the
time, something that keeps up a perpetual
condition of dreaming, something that
eventually results in destroying all capacity
Mt, giving exercise only to the surface
parts of the mind and leaving the deeper
springs of feelings and the higher faculties of

perception unemployed.

‘/16'. The writer believes that half-educated
persons are not able to

(1) enjoy wine-drinking

(2) enjoy dreaming

(3) think properly

Fl

(4) appreciate hidden qualities of

' admirable literature

A

Paper-'I/ B

12

@‘he word ‘narcotic’ in the passage
means :

(1) great literature

(@ intoxicant

@ cheap books

“(4)
J

intellectual exercise

yf The phrase ‘the higher faculties’ in the
passage means

(1) different departments in the
University
(2) different ways of enjoying things
(3) mental powers of a high order for
7 understanding great literature
(4) superficial part of the mind

_f9. The word ‘eventually’ in the passage.
means

@ .after some time

- @ at last

(3) never *

(4) ihitially <
80. The word ‘unemployed’ in the passage

means

(1) jobless

(2) in search of employment
(3) not working
(4) unused

e
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81. Which of the following is g 'éorrect
expression?

(1) As cheerful as a lark
P4

(2) As busy as a bat

(3) As cunning as a dog

(4) As happy as a donkey

. The sentence, “This is the house in

which I was born”, is @

* (2) a compound sentence /

(1) a simple sentence

a complex sentence

4) a comcomplex sentence

83. Which of the
a preposition?

following words is

- (1) Beyond
(2) And -
(3) Yet
(4) Now

. Which of the following words is an

adverb?

(1) Apace / @ :
(2) Face. ® 3
(3) Meek ©

(4) Fury -

85. Join the following sentences to make
a simple sentence : '

The coffee isn’t too strong It won’t
keep us awake. '

(1) The coffee isn’t too strong to keep
us awake.

(2) The coffee isn’t too strong and
will not keep us awake.

(3) The coffee isn’t too strong so it
won’t keep us awake.

(4) The coffee isn’t too strong SO as
to keep us awake.

Paper-1/B 13

86. Fill in the blank with suitable pronoun :

My son and my daughter are very
fond of __

(1) herself
+ (2) each other
(3) themselves
(4). himself.

87. Give one word for ‘one who hates
mankind’.

(1) Nazist
(2) Fascist

-+/3) Misanthrope
(4) Sadist

88. Transform the following sentence into
a simple sentenceé ending with ‘book’ :
Let the book be given.
(1) Give me the book.
.’(2) Give the book.

(3) Please transfer the book.
(4) Can you give the book?

89. Transform the following sentence into
a direct sentence :

I asked Sheela if I might know
_her father. :
(1) I said to Sheela, “May I know your
~ o L) !
father?
(2) I told Sheela,
father?”

(3) I asked Sheela, “Can I know your
father?”

(4) I questioned Sheela, “Will 1 know
. your father?”

“May 1 know Srour

90. Fill in the blank to complete the
following sentence :

The Ministers are responsible
the Chief Minister of thelr State for
their work. -

(1) for
<(2) to
(3) of .
(4) towards '

[ P.T.O.
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Thaefl FrefeiRa W % St % I haw avt 3 A% IR Wre-I1 e freed wegd I W

fadwr : wegd TRREVE % SR W W do 61 U 63
T & TEA1 % Hel I g

THEFTER Fertg dE: Edy eEed TeE—
R TTeg: A IAH | ST IE FoISTH T
T’ 3 q@ uEd STRq— AW 9g: AW
R’ 5fq) Rravew smned: e s wwn aef:
Hy=sq) T wawn: o gme:?” sfa “ww i
Wty PfévR” s swad oed @
Igeg— 6w we:? sf) ‘w: afe wyefa:”
3 oraeq yEd| aEm W uE Tl s’ s
Iaeq el | wagw: ash-ueda: e g9
TRA™ Wag|

61. REvew =nd: #:7
(1)
N
(3) Y
4) I

62. TRRER FATI: T=Aa?
(1) Mt
(2) W&
NE SR
(4) g

18

65. Ry Hewm IRF a0
(1) wg&feE:
(2) dRed =gyl qr=a1 I
-\\ﬁ‘r TeaT SETT: A
(4) feaam s =1

66. S U F] YT VAR &
(1) A9

A
3) &
(4) SR
67. ‘g3 UIg A I T4F S Frewm
(1) &1

~ v
(3) =
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70. ‘T g fora o i 37
(1) saTfeoT
(2) IR
(3) eI

JA TR

=3

71, "H AN ST § w1 W warsy qe

am
- (1) 37 i T
Jz]’ T A9V T
(3) W& TR SO

(4) STEAIH: 3TVl TR |

72. ‘Juwfa’ # afa @
() ™
\/(2) q&y
(3) @
(@) e

73. 4 oA g
(1) I
2) €

E g
(@) 3

74, 3= TR-GP T
(1) =, ¥, 394

\(9}4 I, 9, T
(3) @, g, I
(4) m:, U8, TUB:

Paper-1/B

19

75, ‘T’ 1 Tepa e T 3
. T
(2) " Smhifa:
(3) CHHREMM:

76. ‘T § W TP @ T T
(1) T +%E

) R
(B) FT+7w
(4) T + TE

77. T TG
(1) IALHR
) 3 (1%3)
R CCEL
(4) Fernt qem SrgTR

78. ‘312’ TATER % 01 7
) TAM LA
(2) AA¥3I2 9
@ ThTMEIL
4 {3z

79. ‘Fuag:’ # B9 | 87
(1) = |
JA Tty
(3) fsaf
(4) =asmafa

80. e HAEMER
Ly T
(2) rediTE
(3) =gl
(4) &%
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Paper-1/B

81. ‘fig’ W= F THEYA THI=A T B
(1) @ fig
(2) ®
B e
@) = fum:
82. = # & %1 45w =5 27
(1) @
N
3) #
4) H

83, ‘T’ ¥ #§ -9 YoId WG Bl 8f
(1) 991
2 T
(3) g
(4) <4

85. “fmgmmEgial # 34 fha A &7
(1) 15 (75%)
18 (313E)
(3) 20 (@)
(4) 16 (dI<iE)

g6, ‘e’ AR R F A I
(1) =1
2 91

of v

4 I

20

87. ST THT < SETEN €

(1) FEW

J} arfirei

(@) Tige:
(4) drar=R:
g8, frm § #n ‘gfufEredRia % T A

TR = ST

(o T

(2) HENA

(3), SRS

(4) TR

sg.wﬁaaﬁa'ﬂa&'ﬁw%
(1) e
2] et
(3) dEiH
(4) o
90.%@%@ EaC? EFﬂ'th’t
(1) s

R ]
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WE—IV. / PART—IV ﬂ
T / MATHEMATICS —

91, R steafes § smag
\L/ . Rl :;Eﬂg Tt The height of a rectangle in a histogram

S SR shows
2) 38 g _ «1) frequency of the class
(3) 38 Fuh (2) width of the class *
4) 38 H = gy (3) upper limit of the class

. [(4) lower limit of the class
92. T TATHF Fell H et 9 = da s f9—‘ In a constructivist classroom, teachers

TE1 S =E? '~ should not do which of the following?
1) feenfat = et D : " (1) Allow students to develop their otvn
0 Hfert fehe ER?;? W F ﬁ-ﬂ{ strategies to solve questions
(2) Ask students to rote memorize
fernfelat =0t w3 @ ¥ R e formulae
(3) U uRfeufml s R Rt W (3) Create situations for exploration
LG IEER:| Yo &l (4) Allow students to construct

= ings f ical tool
@) Pl B e e s o o meanmes jor mathematical toly
Eoicier 93. The difference of two complementary

angles is 40°. The angles are

93.&#&@%@%40%13‘1%%@, (1) 65°, 35° ) 70°, 30°
' (1) 65°, 35° (2) 70°, 30° ' (’.':}) 25°, 65° 4) 70°, 110".
° ° 70°, 110°. 94. When 121012 is divided by 12, the
'\Lah 25% 65 ) Aol o remainder is
94, 121012 ' 12 ¥ 91 1 W 9% (1) © @ 2

(1) © 2) 2 A @) 3 Sy
3 3 A 4 : @Whmh of the following - should  be
d in a student? .
95. e fereneff & =t # ¥ @ arfen =few? assesse

@) Mathematical communication =

(1) wiorda o s (2) Capacity to memorize without
2) o 993 @ F gEa : gnderstandirlzg_ ¥ 1
Tl apacity to listen to teacher ~
(3) farer 1 'ﬂ:ﬁ i s 5 tg_ﬁ ?ﬁ é% Attitude of not asking questions
~/L4) YRS 7 FHgE R A 5 even if the concept is not
Eﬁ'l understood .ox ;
6. 31T 3R [ Yoy I 3TN ﬁﬁﬁﬂ ? \96. The difference between the maximum-
) R and minimum observations is called

N (1) frequency

(2) = A1 X (2) class size

\_!;)/ g ! : (3) range .-
(4) WA et I (4) mean

TF %14 & fog T8 / SPACE FOR ROUGH WORK

Paper-1/B 21 [ P.T.O.
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97. gad B :ﬂﬂmﬁw%
M 2 2) 3
3) 5 @) 7

og. el wEm % 2 1 2, 24 ¥ S §, A M
dww%wa’im?

97/ The smallest prime number is
(1) 2 2 3
3) S @ 7
98. If 24 is % of% of a number,
' will be % of that number?

then what

Tl 8 —t3 12 (1) 8 “2) 12
‘(3) 10 (4) 32 (3) 10 - (4) 32
99. 7+2+/10 1 Tqe ¥ 99: The square root of 7+2410 is
(1) (Jg+1) (2) (J§+2) (1) (Jg+1) (2) (\/5+2)
\_/L&) (v2+/5) 4) (2++5) 3) (V2 ++/5) (4) (2+«/—5‘)
100. WifeThl F ‘sEwor F1 fwersor’ fafe = The most important persomn, relatecl, to
g a9 o the method of ‘Analysis of Variance I1n
(1) 2o To fmr =i __ Statistics, was ”
TreE R. A. Fisher
(3) T (2; 5::1:;
) ﬂg:ﬁﬁ 59K, P " (4) Newton
101. E@ig@' % 60% 1 % st s 36:8; A = 101. If %th part of 60% of a number is 36,
& 2 then that number is
! vm A B ' (1) 1100 @2) 75 i
(3) 80 ), 29 (3) -80 (4) 90
102. 7%, & ) i 8 farh
(1) :E@n (1) rational number
N F@T () irrational number
(3) . ST¥I=A HEA (3) prime number
(4) T _ (4) integer
a_b_ca 4 atbre b2 " 5,
/103 trl%s = 7'@’[, - ¥, 103 1f 2=7 7,therl1thevalueof —Zis
(1) v2 . 2 7 (1) V2 2 7
1; : 1
37" 2 - @4 —= @ @) 2 (4) 7
104. (378x236x459%312) % TFFA H T | 104/The digit of unit place in
1 IF (378x236x459% 312) will be
(1) 6 (2) 8 (16 7 . 2 8
(3) 2 A4 @ 2 @ 4
7w @ % folg S® / SPACE FOR ROUGH WORK
paper-1/B 22
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105. 3 dEwiel % Hewy
e FAN: 12§91 79
%1 IHA 60 B, W T

(1) 12 N2 24
(3) 60 (4) 72
g I AR | Ry

20 x4 A Fifsm
qmﬁmﬁﬁmﬁmq-g%mm :
mﬁm:ﬁ%wﬁqum:sﬁ?hﬂ
2 '
27
28
108

e
ﬁ"!fésw;?aag
U u&n f

106.

L™

X

Rt ERER

(1) Femefisiosm A=y . .

(2) 36 fqenefi ¥ wen & wad @ F Faw
0 3% 39 =fey

@) =@ famneff # 5 = F ¥ 2 @w )
=fE

4] T® TR TN B A F =R
foremeff 3 wea 1 o w6 AW Ty W
uE Wi & R 5 s AT

107. aft Fordt ovg o1 - SEe fasra-1ed &1,
3R, @ @ = wi i @
(1) 33L1%
331% wfa |
(3) 33Ll%®M ¥ o~
(4) 331% @™ : :

108. frdt R H WR AR W FA &
660 m?2 % a1 w=Ts I et H g B
7R FR B FTE 11 m ¥, A I BT
IG5 B '
(1} 200 m?

(2) 150 m?

(3) 100 m? @) 75m?

Y}
1& (o,
g
C?(The HCF and LCM of two numbers are
12 and 72 respectively, If the sum of
these numbers is 60, then one of the
numbers will be e V"

L .

M 12y - o) 24 Y

(3) BQJ, (4) 72}(

teaéher wrote on the blackboard f
Find 29x4.

A student copied it on her notebook

as 27 >g4 and solved it as follows :

2

27

_4

108" -

X

The teacher should

(1) give O mark to the student
@ ask her to be attentive in the class
and give 0 mark
(3) give 2 marks out of S marks to the
student

try to ascertain the reason of
wrongly copying the question by the
student and give her full 5 mark
for the correct process ' i

{9‘./11' the cost price of an article is % of its

selling price, then the profit or loss
percent is O 1we
EN

(1) 331% profit T

54
\}2) 33%% loss \$?
(3) 331% loss
4) 33%% profit

4

. The total area of four walls of a room is
660 m? and the'length is twice its width.
If the height of the room is 11 m, then
the area of its ceiling is 7 ) sl

A1) 200 m? (2) 150 m?

(3) 100 m?2 4) 75 m?2

1

IF Frd & f&¢ W€ / SPACE FOR ROUGH WORK

Sy

)‘_ 2 £ _b‘{.hf’c

§)

Paper—-I:; 7( % '/k

L+ b7

A

[PRTEO.

6

)

w7 V>

-
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109. IR T 604__6, 11 ¥ fwsa &, @ fwd
T YU B
(1) 1 (2) 3
(3) 7 A5
110. 201 ¥ ¥ wiifiE andg 1firdm wfd
=Tk S A7
(1) e
(2) =T
) Hifar THIgSH
4) ®WmEs
111. 3 FEms § ¥ 7€) e F g 91 Wl
g T ¥ A S & e e wen % 9
3t B e F 9 W @ dm 71 21 9
e F &7 A =OY 43
1) 43,8  ModePN1 o
3 14,5 @ 17, 1
112. 5 cm ¥ 9@ T 0 F W werH W W
T S 21 AR 38 1 cm® A EE e
T R, @ 1 cm® ARy R o A e T
et | B
(1) 142 (2) 27
(3) 42 54
113. af a0 9 § @ T HAF &
TTqe ST B 87
(1) A AR AAH
2) wieq, AeAH AR TgAF

i

BRI
% -4

L~

Y

’a

®

V)

11Y.

4

\'D

visible DY 11, then the

i

If 604_- 6 is di

integer in the blank space 18
(1Yl 2 3
(3) 7 @2 oy
-, _taught ndian
Who was  the e Oth century?

mathematical genius in the 2
(1) Aryabhatta
(2) Sridharacharya

/(3) Srinivasa Ramanujan

(4) Harish Chandra
mbers is three

Twice the larger of two nu
more than five times the smaller ?fhi};e
sum of four times the larger an e

times the smaller is 71. What are the

numbers? 2 A :,'S"’J";?
' d
(1) 43,8 ww2g? 1l 9@@
§ 17, 1

4
(6% 1&*.,(.2(f (4) ©

cube SF'side 5 cm is painted on all its
: _cubes,

faces. If it is sliced into 1 cm
how many 1 cm 3 cubes will have exactly

~one of their faces painted?

G

142 (2) - 27

(3) 42 ~4) 54

Which measures of ccntra! tendency’ get
affected if the extreme observations on
both the ends of a data arranged in
descending order are removed?

(1) Mean and median

(2) Mean, median and mode

(3) Mean and mode '

e AR qgAP : (4) Mode and median
(4) wga® 3R AT ‘ Tﬁ' v Extrﬁg 3d{i}gﬁ‘:4 c?‘ha nart;:ra_! number is
14. Tt e 1 IS 3 AT 3 A 4 el r 4. The number is divisible by
i 3 q_@‘m%;ﬁ”“s e 4 2 A fRE A 2 zﬂtgé??nd 4. What is the smallest such
Y&l 3 w1 37 m
et e Bl s & <(1) 333 o2) 444
(1) 333 2) 444 (3) 44 (4) 4444
(3) 44 (1) A58 115. Find the sum of all the interi
115. WY % H‘lﬂ maﬁvﬁ'ﬂ RG] ml \} a pentagon. SAmeHaranglcs.of
(1) 450° (2) 180° (1) 450° @) 180° -~
(3) 3600 JA{) . 540 [3) 360“ ({4] 5400 i
B % %14 % Ty 8 / SPACE FOR ROUGH WORK
- : %
1 - H vaRo
| ho o
24 e @y
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116. TF @9 H 3 9 FNE F wr 3 v
gqaﬂémam@ﬁmw% ?hrmn
sﬁawwwmanﬁ%ﬁﬁagﬁ%
ﬁ{ﬁamﬁaiﬂ'@ﬂ?

y' 21 fiz
@) 25
(3) 30#H&X
@) 12 Hiw

117. A ¥R B &l &m #1112 7 & 5w 3
B3R c 3 wW H 15 9 F gon c afn 4
ﬁwﬁzoﬁqﬁwm%mmﬁ
Fm % o & & g wen?

(1) 10TA
(2) 20 =

30 f&
ﬂ 40 f&

118. AABCEET YS! < HeAfegd A D, Ea?r{
F3 = 3§ ®9-91 99 87

A

IE2
T

o
L&

B

D
ADEF ! 89%d = A ABC 1 &%
(2) ADEF %1 &3%¢l =1 A ABC %I &%
(3) ADEF 1 &% = 3AABcrﬂ PR
(4)~ ADEF 1 &% =1 A ABCH &%

119. A% q FEASA H HRR AT AR P
5T 36 B, A Ik SYeHAl T AR
5

N

31

gg (2) 36

4]

(3) 9 (4) 5

120. et 2)- aiﬁumaaeiﬁzﬁrw%‘%s
mmﬁgﬁsﬁﬁmwﬁaﬂﬁ%W
mwﬁﬁlaﬂ_m%

1

y.

- the pole still remains in the mud. What

1

NE)
44)

2 of a pole is in the mud. When 1 Fofitis
pulled out, an 8 meters long piece of

is the total length of the pole?
A1) 21 meters

(2) 25 meters

(3) 30 meters

(4) 12 meters

. A and B can do a piece of work in

12 days, B and Cin 15 days, C and A
in 20 days. How long would A take
separately to do the same work?

(1) 10 days

(2) 20 days

A3) 30 days

(4) 40 days

. D, E and F are respectively the midpoints

of the sides of AABC. Which of the
following is true?

Area of ADEF= Area of AABC
Area of ADEF= % Area of AABC

Area of ADEF:% Area of AABC
Area of aDEF=-}i Area of AABC

(1)
(2)

. If the difference and the product of two

numbers are 5 and 36 respectively,
then gheir reciprocals differ by
31

(1) % @) %
® 3 @

. A two-digit number is such that .the

product of its digits is 6. If 9 is added to
the number, the digits are reversed. The
number is

(1) 16 2 35 ' -~ (1) 16 (2) 35
(3) 43 ) 23 3) 43 {4) 23

I W -:,-.,- faq W& / SPACE FOR ROUGH WORK

2 O
Y (9,;<'3 ik
Paper-I/B g et 25 -
@ (u ‘Al PT.O.
{_q
a4 N
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aq—V. / PART—V
ygterufra a1egaw / ENVIRONMENTAL STUDIES

121. 9Rd # fr=fafiaa § & wm-d o 581 §9
A TGO % A Y Heiftra 27
(1) o e
N2 = g FeE e
(3) s A AR
(4) & & 3foe
122. ‘FrRN’ Th Td SaTagE §, S sEted @
(1) foweh® (2) TR H
3 T (4) Tehist H
123, foea 6t @ 7€ vRa § fhw TW @ S

STt 77
(1) T (@) TN
B T @) fry
124. TE-qf &7 % Ui H @ JEen § g6
_ ¥ I9HT B ©
NICIE
(2) wEEd
(3) SfErg
(4) WETEH F1 AHERI
125. mew,ﬁg&ﬂ—m%wﬂa
3,8
(1) FHATHSA 2 dvea
(3) AAHSH (4) STETESA
126. dgﬁugg{mmﬁﬁmﬁwmw%?
(1) 3 @) 4
3y 5 @) 6
127, T THA ST AR 8
(1) uEmETAR  (2) ToRTd H
NG (4) A
128. qﬁﬁ:ﬁﬁ?ﬁiﬁ?«ﬁﬂg@m%
(1) Tododo 2 HH-TE
(3) o To To (4) ¥Mo To To
Paper-1/B

the following agencies

concerned with  the
tlon ]I'l Indla?

\/21 Which of
is  primarily
measurement of pollu
(1) Green Tribunal

{2) Central Pollution Control Board
(3) Central Water Commission
(4) Survey of India

@. ‘Cotopaxi’ is an active volc@im&‘xd

mn

(1) Sicily (2) Hawaii
(3) Andes (4) Rockies
128. Tsangpo river of Tibet, in India, Is
known as _
(1) Ganga (2) Yamuna

J;‘ﬂ Brahmaputra (4) Indus
@. In a food chain of grassland ecosystem,
the top consumers are

(1) herbivorous @
(2) carnivorous

(3) bacteria

(4) either carnivorous or herbivorous

lsi,fThe main atmospheric layer near the
surface of the earth is
(1) strétosphere wA2) troposphere
(3) mesosphere (4) ionoapher_'e

24g. The number of permanent members of

the UN Security Council is

(1) 3 (2) 4
_@ 5 /¥ 6

327. Sariska National Park is situated in
(1) West Bengal (2)
. (3) 4)

128. The main source of
ecosystem is
(1) ATP.
(3) DNA

Gujarat

Rajasthan Assam

energy in an

sunlight
‘RNA

-(2)
4y

26
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129. TR 1 Hrery &
N 2) iy
(3) THEAH (4) I @
130. 3/ g ST T et &
(1) SWEwH
-(2) T ww H{
“(3) fwnH
A e e |
131.%@@%%%@%
(1) 1960 H (2) 1962 #
3] 1972-3 (4) 1975 #
132. 39 A 8.5 A T A |

(1) wem-Sem ( et

133. fFg 2w & dfaum @ Wfas e o o
TR RY :
(1) s
2) Iee fered
(3) Fo THo W

!

\/{4] Jo THo THo HARe
134, YFar Fel Sl 8 i
NG s (2) ot AR
(3) TR = (4) ufefl AR

135. WRa #§ ‘G TR mmwm
(1) 1972 # L2y 1973 %
(3) 1981 % (4) 1985

136. ‘gt i 1Y’ TR ? .
(1) iR - roh
(2) TmrEe veu A |
@) RfEmd
A IETS |

Paper-1/B

129. ‘AGMARK’ is related with
(1) quality

(3) processing

(2) packaging
(4) production

l@l‘he problem of water pollution with

arsenic is maximum in

f(l) Uttar Pradesh -
(2) Madhya Prades}/
(3) Bihar
(4) West Bengal

"\ @ The Wildlife Protection Act was passed

in
1960
1972

2) 1962
(4) 1975

(1)

@
(3)

132. The process of curd production from
milk is known as

(1) photosynthesis

(2) distillation

J43) fermentation

(4) sterilization
fl‘._aslmndamental Duties are adopted from

the Constitution of which country? -

(1) Germany ..

(2) United Kingdom ®
(3) USA
(4) USSR ~

134. The Polestar is & .{_. >
(2) South stars

- (1) North star
(3) East star (4) West star
. ‘Project Tiger’ was started in India in
1972 (2) 1973
(3) 1981 (4) 1985

1}3‘5. The Va]iey of Flowers is located in
(1) Jammu & Kashmir
'(2) Himachal Pradesh
(3) Sikkim

27

. (4) Uttarakhand

““'['P.T.O.
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o,
f

137, TF T THE § Fa e @ gel T

oeft 37
(1) 305 2) 275
3) 206 (4) 175
1as’.zﬂ?d1ag'zﬁmam§waamf@m%
(1) =g | () faedi®
A3y Tdn A (4) TR A

139, THE-HI9 & WHEG =0 F A
T T TH T 9= Bl 2

w(Y @, NADP
(2) NADPH5, CO9
(3) COp, 5™
(4) COo, NADPH,

P

Q)

140. TWo o Sfo 3 Tl # w1 Ty TE §7
(1) 98 TF @=5 ¥ ¢
2 WIATHIAAF R
(3) T fret SaTen ¥ S Aren
;\/m 7% A IeEeH H AT B

141. The Origin of Species (ﬁﬁsﬁi EY 3&&1)
T AR '
(1) ST H 5
Mﬂaﬁwﬁ
Ted &l
4) THgFH
142, ‘TR @ B

5 1
Jeo(1) 232°
() 2%

\Jﬁf 23%" S

143. i A F1 JEATed A 3
(1) SFand N LR
(3) i d (4) Ywd

Lo o
2) 23-°N
(3 2%

@) 23°8

Paper-1/B

28

)
o W
€ -

0
Ur 0
1\.?7./ How many bones are present
human being?

(1) 305
(3) 206

@ The Headquarters of Greenpeace
International is located irr D

(1) New York (2) Sydney
@ Amsterdam (4) Nagasaki

in an adult

275
175

(2
(4)

During light phase of photosynthesis,
is oxidized and is reduced.

water, NADP @
o D

9

(2) NADPHj, CO2
CO,, water M?j( '

T ‘
4) COgp, NADPH, - i

140. What is not true for LPG?
Y (1) It is a clean fuel
(2) It has high calorific value |
(3) It burns with blue flame j

It is methane emitting

: \1}1 The Origin of Species is a work of i
(1) Aristotle v
[2) Charles Darwin
(3) Mendel |
(4) Robert Hooke

The Tropic of Capricorn is

\lrlz.

1
320 1,

(1) 23; @ 23leN
i,

8y 23578 (4) 23°s

. The Head Office of The International
Court of Justice is situated in

(1) . (2) The Hagye
(3) New York (4)

Geneva

Paris
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e e e -

ST —
1

144. Hiqum @ X T TH B st
(1) 20 sHad, 1950 |
2) 24 SFEd, 1950 A .-
(3) 21, 1949 H
(4) 13 7R, 1949 H

145. wﬂw’maﬂﬁrﬁﬁﬁwmg?
L) R (2) IR |
(3) S naT” St oek Y
146. Prfufan Todmh fRolt § ¥ SR s
BT 27
(1) UV-A
v (2) UV-B
(4) I A 9 RIS AL
147ﬁ=f%ﬁaaﬁﬁa?n—mﬁam%aﬁr&‘m
e TE 27
(1) WA @) EET
3" Faw (4) qm#kﬂ ’
148. ‘R I afEe Efem ?
W TR A
(2) WeEwg # v
(3) SWWWHA
(4) @ weu A

iw_gﬂogﬂo@oﬁﬂﬁﬁ%
s (1) o€ A 5
(2) ae€ AR S
szﬁm‘mﬁ%'
(4) o€ aE %

150. 7 & e
(1) 3REeh Aofl &
(2) wErE RER A
ey e iR &
(4) forema AR |

Paper-1/B

-
L]

29

1 .

. The Constituent Assembly adopted our

National Anthem on

(1) 20th January, 1950

2) 24th Jahuary, 1950 /|
 (3) 21st May, 1949
. (4) 13th November, -1949

/(1) Jaipur

¢ (3) Jodhpur

(1) UV-A
» (2) ) UvrB v
(3f uv-C

-

. 145. Where, is Pushkar Fair he]d?

()" Udaipur
(4)) ‘Ajnfer

. Which of the following ultraviolet rays i
more dangerous? ) @
' - ; J

(4) None of the above
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. Which of the fol]owmg is not an abmtlc
component of blosphcre?

(D Protem
3) Fung;

(2) Seil
(4) Phosphorus

lr}" ‘Gir Lion Project’ is situated in

1) Gujerat

1
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(3) Uttar Pradesh

(4) Madhya Pradesh

149 WWF stands for
(1) World Wide Fund
(2) World War Fund
3) World Wildlife Fund
(4) World Watch Fund

W. The river Ganga rises from
(1) Aravalli range
(2) Ladakh glacier
-3) Gangotri glacier
(4) Milap glacier
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